
 

 

     

           SAI EDUCATION TEAM 

              MODEL QUESTION PAPER (ENGLISH) 

 

 

1.The age of retirement of the judges of the High 

Court is: 

a.65 years 

b.70 years 

c.62 years🍭 

d.58 years 

 

2.Integrated Child Development Scheme (ICDS) was 

launched on 

a.2nd Oct 1975  🍭 

b.2nd Oct 1973 

c.2nd Oct 1979 

d.2nd Oct 1976 

 

3.ASCII stands for 

a.American Security Code for Information 

Interchange 

b.American Standard Code for Information 

Interchange 🍭 

c.American Scientific Code for Interchanging 

Information 

d.American Standard Code for Interchanging 

Information 

 

4.Who wrote 'Vrithantha Pathra Pravarthanam' first 

book on Journalism in Malayalam language? 

a.Swadeshabhimani Ramakrishna Pillai  🍭 

b.Dr.Palpu 

c.Mannathu Padmanabhan 

d.K.Kelappan 

 

5.Who was the volunteer captain of Guruvayoor 

Satyagraha? 

a.K.Kelappan 🍭 

b.T.K.Madhavan 

c.Kunhambu Nair 

d.A.K.Gopalan   

 

6.The famous work 'Mayoora Sandesham' was 

written by: 

a.Kumaranasan 

b.Keralavarma Valiyakoyi Thamburan  🍭 

c.Kalidasan              d.Swathi Thirunal 

 

7.The audible frequency range of a human ear is 

a.20 Hz to 200 Hz         b.2 Hz to 20 Hz 

c.20 Hz to 20000 Hz 🍭 

d.200 Hz to 2000 Hz 

 

8.Which has become the first railway station in India 

having an all-women staff? 

a.Raipur 

b.Matunga  🍭 

c.New Delhi 

d.Gorekhpur 

 

9.Which state conducted the 18th edition of the 

Hornbill Festival? 

a.Assam 

b.Manipur 

c.Meghalaya 

d.Nagaland  🍭 

 

10.World Soil Day was observed on 

a.Dec 3 

b.Dec 4 

c.Dec 5  🍭 

d.Dec 6 

 

11.ചെമ്പൻകുഞ്ഞ്‌ ഏത് കൃതിയിചെ 

കഥാപാത്തമാണ് ? 

a. ശാരദ 

b.ഇന്ദുലെഖ 

c.ഒരു ലദശത്തിന്ചെ കഥ 

d.ചെമ്മീൻ 🍭 



 

 

 

12."ത്പാലേ ത്പാലേ ലപാകരുലത" ആരുചെ 

കേിതയാണ്? 

a.കുമാരനാശാൻ 

b.ഉള്ളൂർ 🍭 

c.വേലൊപ്പിള്ളി 
d.നാെപ്പാട്ടു നാരായണ ലമലനാൻ 

 

13.'ശക്തിയുചെ കേി' എന്ന ലപരിൽ 

അെിയചപ്പെുന്ന മെയാള കേി? 

a.വേലൊപ്പിള്ളി 
b.െങ്ങമ്പുഴ 

c.ഇെലേരി  🍭 

d.ഒ.എൻ.േി 
 

14.The H.C.F of two numbers is 11 and their L.C.M is 

7700.If one of the number is 257,then the other is. 

a.279          b.283         c.318        d.308🍭 

15.Two numbers are in the ratio 4:5.The difference 

of their squares is 81.Find the numbers. 

a.12 and 15  🍭 

b.10 and 15 

c.15 and 12 

d.13 and 16 

 

16.A discount dealer professes to sell hid goods at 

cost price but uses a weight of 900 gm for 1 kg.Find 

his gain %? 

a.131/9 % 

b.111/9 % 🍭 

c.111/8 %  

d.121/9 % 

 

17.By selling an article for 660 a trader gains 

10%.The cost price of that article is 

a.650 

b.640 

c.600🍭 

d.610 

 

18.The length and breadth of a room is in the ratio 

of 2:1.If it's perimeter is 60 m, then its length will be: 

a.10 

b.20🍭 

c.30 

d.40 

 

19.AZN , BYP , CXR , DWT , ___. 

a.EVV   🍭 

b.EVT 

c.ETT 

d.EUU 

 

20.Angle between hour hand and minute hand at 

9.38 is 

a.60° 

b.65° 

c.75° 

d.61° 🍭 

 

21.One word substitution: 

'Custom of having many wives'. 

a.Polygamy  🍭 

b.Matrimony 

c.Bigamy 

d.Monogamy 

22.Pick out the right synonym for the word 'Placid': 

a.Dull 

b.Clear🍭 

c.Dirty 

d.Vague 

 

23.Choose the correct meaning of the idiom 'To call 

a spade a spade': 

a.To hide something 

b.To speak harsh words 

c.To speak frankly  🍭 

d.To remain silent 

 

24.Choose the correct meaning of the foreign words 

or phrase ' Faux puss ': 

a.An idea 

b.An invention 

c.A discovery 

d.A blunder  🍭 

 

25.Pick out the right Masculine /Feminine Gender of 

the noun 'Ram': 

a.Ewe  🍭 

b.Hind 

c.Eve 

d.Stag 

 


